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Aufgabe 1

Vereinfache. Wende die binomischen Formeln an.

a) (a+ 13) b) (z +y)> ¢) (a+b)? d) (a+5)°

o (b+a)?  BHz+11)2 g y+2)? b (z+13)

) (a+14)?% ) (T+2)?

Aufgabe 2

Vereinfache. Wende die binomischen Formeln an.

a) (z—y)° B (T+a)? 9194a)?  d) (@+3)(x—23)

o (z+8)z—8) Ny—2)? gb-a? n(a-13)°

) (12—2)*  j)(a—b)

Aufgabe 3

Vereinfache. Wende die binomischen Formeln an.

a) (z + 16)> b) (19 + a)? ¢) (y + )* d) (a + 14)?

o) (a+b)?  HA0+2)> g (b+a)® 1) (20+a)?

) (11+a)® ) (a+2)°

Aufgabe 4

Vereinfache. Wende die binomischen Formeln an.
D=5 n@-77  9@+20)@-20) & @—y)’

o) (+14)(x—14) 0 (z+T)(x—-7 g 8+a)’
h(z—17)% ) (b+a)(b—a)  j) (19 +z)?

Viel Erfolg!
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